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PART -1: GENERAL ENGLISH

Can we go this way to reach the Post Office?

(1) seeking information (2) making arequest

(3) seeking permission (4) making asuggestion

What made Maya Bazaar a land mark movie?

(1) Direction of K.V. Reddy (2) Dialogues of Pingali Nagendra
(3) Sterling performances of stars (4) Allthe above

Combine the following sentences using ‘neither-nor’.

Mr. Rao is not attending the meeting. Mr. Prabhu is not attending either.

(1) Neither Mr. Rao is attending the meeting nor Mr. Prabhu is attending the meeting.
(2) Neither Mr. Rao nor Mr. Prabhu is attending the meeting.

(3) Neither is Mr. Rao nor is Mr. Prabhu attending the meeting.

(4) Mr. Rao is neither attending the meeting nor Mr. Prabhu is attending the meeting.

What is the theme behind the lesson “I will Do It”?

(1) Narayana Murthy’s achievement of 117 seat. :

(2) A person needs support from the family to achieve something in life.
(3) Every person has success and failure in life.

(4) One who is intellectually and ethically strong can become an icon of success, even
though from an ordinary family.

“My laugh in the mirror shows only my teeth like a snake’s bare fangs!”.
What is the figure of speech in the above lines?
(1) Metaphor (2) Simile (3) Alliteration (4) Personification

He was in reality a very simple and unassuming man with a subtle sense of humour. What is
the synonym of the underlined word?

(1) smooth (2) unnecessary  (3) unnoticeable (4) intolerable

‘Bye! see you again’ ..... This expression fits well for a
(1) Diary entry (2) Conversation
(3) Article writing (4) Advertisement

Find out the wrongly spelt word.
(1) elegance (2) speculation (3) governance (4) occasion
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9.  ‘IfIwere you, I would donate half of my money to the poor’. This is t‘he best example for
(1) complementing (2) suggesting
(3) accusing (4) thanking
10.  What do we call ‘a person who is responsible for a problem or a crime’?
(1) Publisher (2) Massive (3) Culprit (4) Cardiologist
11. Heis about technology.
Fill the above blank with suitable options given below.
(1) ignorant (2) innocent (3) indecent (4) inefficient
12.  List out the positive qualities from the following.
a) selfcentred b) imaginative c) affable d) reliable
(1) (a)and(d) (2) (b),(c)and (d)
(3) (b)only (4) (c)and(d)
13.  Whatkind of a person was Elizabeth Jordan?
(1)  witty (2) complacent (3) generous (4) humorous
14. What is well explained through ‘A tale of three villages’?
(I) how to overcome pollution
(2) what are the precautions to be taken to stop pollution
(3) how ‘Pollution’ could affect the environment and mankind
(4) the flourishing of factories in villages
15. Identify the quantifier that best fits in the blank given below.
Pollution is such a grave problem that person has to think about it.
(1) all (2) any (3) no (4) every
16. Which of the following are alliteratives?
a) hodge-podge b) tip-top
c) itsy-bitsy d) tick-tock
e) see-saw
(1) (2)and(b) (2) (a)and(c)
(3) (b).(d)and (e) (4) (a)and(e)
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17,

What was the writer’s intention in portraying the story ‘What is My Name’?
(1) the basic identity of women at home and in the society.

(2) how to overcome the problem of men domination.

(3) how to keep the house clean and design muggulu.

(4) how to bring up children efficiently.

18.

‘Please take your seat!” This expression means —
(1) giving permission (2) requesting permission
(3) making an offer (4) seeking permission

19.

Which of the following words comes first in dictionary?
(1) Fierce (2) Freak (3) Fuel (4) Fossil

20.

Change the voice

Father has answered my phone call.

(1) My phone call has been answered by father.

(2) My phone call has answered by father.

(3) My phone call was answered by father.

(4) My father has been answered by my phone call.

21

It rained heavily. But we didn’t postpone the shooting.

(Combine the sentences using ‘In spite of”)

(1) Inspite of it rained heavily, we didn’t postpone the shooting.
(2) Inspite of heavy rain, but we didn’t postpone the shooting.
(3) Inspite of its rain, we didn’t postpone the shooting.

(4) Inspite of heavy rains, we didn’t postpone the shooting.

22.

Choose the right prepositional phrase for the sentence given below.
Giri went to the station his father.
(1) inplace of (2) bymeansof (3) inadditionto (4) alongwith

23,

Gowtham, who went abroad last year, came back to his motherland.

(Identify the type of clause in the sentence)

(1) Defining Relative Clause (2) Non-defining relative clause
(3) Ifclause (4) Independent clause

24.

What is/are the important elements in Biographical sketch?

(1) Personal information (2) Career
(3) (1)and(2) (4) asignature

V-General English 5-E



Question Paper E
Booklet Code

23.

The minimum characters necessary for a conversation are .
(1) 1only (2 2 (3) morethantwo (4) alltheabove

26.

Which are the elements included in a letter writing?

(1) Date and address (2) Salutation and subscription
(3) Body of the letter (4) Allthe above

27.

The meeting is postponed. So we resumed our usual work.

(Combine the sentences using ‘since’)

(1) Since we resumed our usual work, the meeting is postponed.
(2) Since the meeting is postponed, we resumed our usual work.
(3) Since the meeting is postponed, so we resumed our usual work.
(4) The meeting is postponed since we resumed our usual work.

28.

Which among the following is NOT a feature of a one act play?
(1) One setting (2) Minimal characters
(3) asubject/theme (4) Fantasy

29,

It was a/an situation that left a lasting impression on the teacher.
(1) unforgettable (2) occasional (3) recalling (4) uncontrollable

30.

“We don’t have enough basic needs like food, water and energy”. This statement shows —
(1) gratitude (2) adequacy (3) inadequacy (4) prediction

53 5

My little sister is fond fairy tales.
(Choose the right preposition)
(1) at (2) of {(3) 1o (4) by

Combine the sentences using a relative clause.

The king presented his daughter a bird. It sang sweetly all day.

(1) The king presented his daughter a bird who can sing sweetly all day.
(2) Theking who presented his daughter a bird sang sweetly all day.

(3) Theking presented his daughter a bird which sang sweetly all day.
(4) TheKing’s daughter sang sweetly with the bird all day.

S

The challenges in our lives are there to strengthen our convictions.
(Find the synonym of the underlined).
(1) contentment (2) fears (3) beliefs (4) desires
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34. What does the narrative of colonel Sanders prove?
(1) One can’t earn more than 100 $ at the age of 65.
(2) Onewho doesn’t give up can achieve success even at 65.
(3) One can try mother’s recipe at the age of 65.
(4) One can knock atleast 10 doors only to receive an order for his recipe.

35. What was the philosophy behind the poem ‘Or will the Dreamer Wake'?
(1) The need for protection of Wild life.
(2) The need to incite the human being towards rehabilitation of animal world.

(3) The fear of extinction of animals.
(4) Allthe above.

36. My austere father used to avoid all in essential comforts and luxuries.
(Find the antonym of underlined word)
(1) deny (2) expect
(3) accept (4) quit

37. What does the binomial “odds and ends” mean?
(1) difficulties (2) abig choice
(3) unimportant things (4) anintegral part

38. What was Walt Disney’s invention?

(1) Mickey Mouse "~ (2) Triode tube

(3) Electric bulb (4) Kentucky chicken
39. Ifyou invited me, I ' attend the ceremony.

(1) had (2) would

(3) will (4) would have

40. They may not approve my request.
(Change into passive voice)
(1) My request may not approve them.
(2) My request may not be approved.
(3) My request may approve them.
(4) My request is not approved by them.
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Question No. 41 to 45 : Read the following passage.

~ Ateenage boy from a village moved to the city for a job to support his family. He applied
for a job in a big firm.
After some days, he went to attend the interview. He successfully cleared all the tests, The

hiring manager, “You are hired, give me your details for further processing. Also make sure that
-your bike is in good condition, as you have to do a lot of travelling to meet the customers’”.

The boy replied, “Sir, but I don’t have a bike with me”. Hiring Manager, “Without a bike,
you will not get this job, you can leave”.

The boy left the place thinking about what to do next. He had little money with him. But he
does not want to return to his village without a job. He came across a big vegetable market. He
sparked with an idea. He decided to buy vegetables and sell from door to door. This went well
with good profits, so he continued his hardwork and developed his business as a food chain
retailer.

After a few years, his friend visited his home and found many cars in the garage of his big
house. The business man’s friend asked, “You have a good collection of cars, do you have any
bikes?” The man smiled and replied, “If T had a bike, I wouldn’t have had these many cars. This is
my destiny”’.

Answer the following questions :

41. Why did the boy move from village to city?
(1) togetmarried (2) toenjoylife (3) tofindajob  (4) to find friends

42. Whatkind of job did the boy get?
(1) ajob to meet customers (2) ajob to look after the company
(3) ajob ofhiring manager (4) hedidn’t pass the interview

43. What was the reason he was not hired for the job?
(1) Hedidn’t clear all the tests
(2) Hedidn’t satisfy the hiring manager
(3) Hedidn’tlike travelling
(4) Hedidn’thave a bike

44. What did the boy decide when the hiring manager refused to give him a job?
(1) The boy decided to leave the city
(2) Theboy decided to buy a bike
(3) The boy decided to stay in the city till he gets a job
(4) The boy took loan to buy a bike

V-General English 8-E
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45.

Which message best suits the story?

(1) One should never give up in despair.

(2) One should buy a bike to secure a job.

(3) [Itis necessary to do marketing to become successful.

(4) Ifyou fail in interview, you should go back to your family.

46.

Which among the following is NOT a right statement about Wangari Maathai?
(1) She was an Environmental activist

(2) She was the leader for Green Belt Movement

(3) Shewas a feminist

(4) She was a native of South America

47.

We should complete this construction by next week.
(1) obligation (2) pasthappening
(3) present reference (4) inference

48.

As [ was going to take my first sip, [ heard father’s voice.
Which kind of Adverbial clause is the underlined part?
(1) condition (2) time
(3) reason (4) result

49.

What qualities in Nick made him an International symbol of triumph?
(1) Nick’s bravery and perseverance

(2) Nick’s humour and wit

(3) His fear and hesitation

(4) Nick’s disability and rare disease

50.

The poem ‘A plea for India’ urges for
(1) aviolentIndia

(2) astrong, united India

(3) inciting leaders

(4) selfish mothers

|
|
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PART - II : MATHEMATICS

51. logtanl® + log tan2° + log tan3° + ... + log tan 89° = 1
§ § . (2) log(tan90°) (3) 1 (4) o
52. Among the following a pair of non-disjoint sets is ' ;
Si2 SR A S s b
(1) A-B,AnB 2) B-A,ANB
3) B-AA-B 4 AUBANB
53. A positive number ‘m’ is divided by 11 and leaves the remainder 6. If 4m + 5 is
divided by 11, then the remainder is G
Ot Wi Jbri ST 11 dm+ 5 Sic tn 60 S 11 s bf
)10 2): ' 9 3) 8 4 7
54. Match the following : o
5 o Lz
% 7 i
Ifsmé’:m then e i 7
-~ sinf= = f
3 2ab :
i) cosf = a) ATy
oL b a’ +b*
% w7 ) 2ab
i =y
iii) secO= c) Y
2ab
i o = d e
1v) co ) Y
(D) i-a, ii-d, iii-c, iv-b (2) i-a, ii-b, iii-c, iv-d
(3)  i-d, ii-a, iii-b, iv-c (4)  i-d, ii-c, iii-b, iv-a
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55. If o and B are the zeroes of x2 —p(x + 1) —cthen(a + 1) (B + 1) =
(@+1)(B+1)= o B a2l — e+ 1) — e
(1) p*+2p+2c @) -[1+£J
p
9 Ise 4) -.p
56.  If the mean of first ‘n’ natural numbers is " and the mean of first ‘m’ odd natural
- m2 9
numbers is Ty thenm +n=
2 -
m+n= ./ % Lr:llﬁfﬁldfblb‘m’%ﬂi %‘ bjlﬁiﬁfﬁ‘n’%ﬁ
{1}y %1 2 9 (3)- T2 4 112
57. In the given figure, BD is the bisector of ZABC. If ZADB = ZDEB = 90° then,

which of the following are true?
i iouke 7 ZADB = ZDEB =90°/1 _<_(Bisector)—it§ ZABCBD LS E
Ut JJLJ;.QJ}/L

i) AABD = ADBE i) «ZBAD=/BDE
iii) AABD ~ ADBE iv) ZADB = ZDEC
() (@), (), (1), (iv) (2) (i), (i), (iv)

(3) (@), Gv) @) (D), (i), (iv)
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58. sin*A-cos*A =
o sin’ A —cos? A
ii) 2 sin?A - 1
iii) 1-2cos?A
iv) cos’ A —sin’ A
(1) @, @) 2 @), (i)
3 @, 3Gv) 4 (), (i), (i11)
597 Jc—l = 4 then which of the following are true?
x . |
-ufu:ba.u/c.gﬂdj;.yﬂ...; =" 4 fi
: P S 1
) Pr—=18 i) x+—=2v5
x x
i)  x? —iz =85 iv) x* +i4 =322
® X
1) @), (i), (i), (iv) 2) @), (@v)
(3) @), Gi), (iv) @ (), (1), (iv)
60. If the mean, median and mode of the data 60, 100, x, 40, 50, 200, 90 are all equal to
x, then x=
= x UL Uz G sl 2bscboslK 60, 100, x, 40, 50, 200, 90 =yt
(1) 90 @) 30 (3) 100 @ 110
61. Ifthe zeroesof x3—3x2+x+ larea—b,a,a+ bthena= ,b=
b= sla= .....}U:fa—b,a,a+b/3‘£x3—3x2+x+lﬁ
(1) a=-Lb=+2 (2) a=,b=%2
B) a=v2,b=-2 4) a=V2,b=+3

V-Maths 12-E
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62.

The system of equations 2x + 3y = 7 and (a + b) x + (2a — b) y = 21 has infinitely
many solutions then a = , b=

a= G- SEEIL P BL UTslr(a+ b) x + Qa—b)y =21 2x+ 3y =1
= o

@) e=55=3 () - a=6,b=5

3)  a=5b=1 @) “a=10=5

63.

The mean of ‘n’ observations is ¥ . If the first observation is decreased by 1, second

by 2 and so on, then the new mean is

Lisd af bbbl LAt i\ 1ot NI % balbatsleom
Lesl P a2
e, 2 | o |
(1) X +['—2—] (2) 7 +[—2—J

® == @ (%)

64.

ABCD is a trapezium in which AB//DC and AB = 2DC, then the ratio of the areas of
AAOB to ACOD is

= UL ACOD SIAAOB> AB = 2DC 41 AB/DCUAABCD (Trapezium),# i

D £

(1) 12 {2)0 (3) 1:4 4 4:1

65.

The ratio of lateral surface area to the total surface area of a cylinder with base
diameter 1.6 m and height 20 cm is

= SIKC I AL 251012220854 1216 Y07
Chaes o, 2 71 3 15 @) 51

V-Maths 13-E
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66. IfF(x) denotes set of all divisors of x, then F(18) — F(12) =
= F(18) ~ F(12) et 7 U F() U Aizip il 5 /i
() {12pss - @) (9,12} 3) {918} 4) {6,18}
2x+!- 1
67. If (Q/Z) 2= = then the value of x =
1
2x+— 1
=x iy 2=.1 N
i ( ) 32
L @y 4 B) 2 s
(512—61)
68 . Iflog\}E =2 thenx=
2
= % Sx —6x) 4 /"i
=x< log 5 =2
-3+
o A g e gy 3D T
6 6 5 5
69. The distance between the two points where the graph of p(x) = x? — 3x — 4 intersects
X-axis is units.
-uLkl J-ﬂl§Ku.l,-wLLGJHLl:i./é’:ﬁi".xdij(;p(x) =x2-3x-4
(i) =2 2) 3 e 4 4 S
70. If(3,9) is a point on the line 2ax — 3y =5 thena=
a= (3, 9) LKy 52ax -3y =51
3 16 i)
1 5 2 = 3 — 4 ot
M ® = 0 @
71. Which term of the A.P. 3, 10, 17, ... will be 84 more than its 13t term?

,.f_uys4c_cj:qn3£wdfwfu: 3,10,17, ... slIdt
(1) 2l L (3 27 () 25
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12

Two right circular cones X and Y are made such that X having three times the radius
of Y and Y having half the volume of X. Then the ratio between the heights of X and
Yis :

KELXEEY L P ad Y Pid§ X S L bl pUths SmafinY wiX
eI LY s X & e id
(1) T8, £2) - 29 ) 32 4) 97

73.

If tan0 + sin® = p and tan® — sinb = g then p2 — g2 =
> -re « tanf — sinf = g/ tanB + sin0 =pﬁ

1) 16Jpg @ 4 3) 16pg @) 4pg

74.

A sphere of radius 3 cms is dropped into a cylindrical Vessel of radius 4 cms. If the
sphere is submerged completely, then what is the increasing level of water (in cm)?

L P L;zsf?;;b‘)*{u:&f&ﬁwuﬁﬁ K 4G/ 4 S0/ Vs P id 3
(bt §TS A

5 235 Q) 230 (3) 225 @) 215

75.

If n(A—B)= 16, n(B — A)= 10, n(A A B) =5, then n(A U B) =
n(A U B) = < n(A—-B)=16,n(B—A)= 10, (A " B) = 5./1
(1 16 @ 10 3) 31 @) 15

76.

If the sum of the squares of the zeroes of the polynomial f(x) = x? — 8x + k is 40 then
the value of ‘K’ is

k= 0.4 KPP fo)=x2 —8x+k §L 2
1 10 @ 16 . 14 @) 12

i

Ifax+ by=a>—b*and bx + ay=0thenx+ y=
x+y=__..,f"bx+ay=0»lax+by=az—b2ﬁ
1) -8B @ b-a () a-b (@) 2+P
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78. In an acute angled triangle ABC, iftan (A + B~ C) =1 and sec (B + C - A) = 2 then

A, B and C are respectively - * , |
L CulA,Brsec (B+C—A)=2 s tan (A + B — C) = L/IEABCEL Sslsnsle LT |
el > s ?f.;;lgq:lda |
1 o 1 o 1 ] l © E
() 523 =i @) 61— .52~ 6
2 2 2 2
| BT FE G
(3): . 52— 61— 4)- 60°67—,52—
2 2 2 2

79. - The region consisting of all points in three-dimensional space with in 3 units of the
line segment AB has volume 2167 cu. units. What is the length of AB ? (in units)
({ KJ!J::CL@(L‘*’::?:’{EGUQ’K’B =~ (three-dimensional space)d:bfl,/.v)z.ﬁ ,:}5&’ L
(ufugﬂ)_b’nbfdﬁf AB JnLKIS 216
)20 2): - 20 3) 18 )12

80. InAABC, ZA=90°, AB=5cmand AC=12cm.If AD1BC then AD=

el

cm.
AD= > BCLAD/I AC =12 cm /AB = 5 cm <ZA = 90° X AABC
13 60 13 2415
o g A 4 V1
m = B ® 2 @

81. From the given figure the relation between x and y is 2
. :ﬁ;c}&v‘/}é y il x u:gﬁ,lﬂ;'
P e 45 B

(1) x+p=135 (2) x-—y=2 3 2x+y=10 (4) x-2y=6

V-Maths 16-E
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82. Which of the following are correct?
U Dl u[gj: J: BEI
a) BoA=>AlIB=A
b) BcA=ANB=B
) WNUWNZzZ=N
d) KB BcA=A=8
(1) (@), (b),(c). (d) 2) (a), (), (0
(3) (a),(b),(d) 4) (a),(c), (d)
83. The area of the equilateral triangle formed by the vertices (a, a), (—a, —a) and
(—ﬁa, ﬁa) is sq. units.
JLKIE, Ut (—ﬁa,ﬁa) (a, a), (—a, —a)uuégﬁ.}}(wd“d,v
(1) 434 2) 234
(3) 83 _ @ 63
84. If the points (p, q), (m, n) and (p — m, g — n) are collinear, then
Usi(collinear) b G453 (p — m, g — n)3(p, @), (m, m)b./1
(1) pm=gqn (2) pm+gn=0
B) pntgm=0 - (4) pn=gm
85. Three vertices of a parallelogram ABCD are A(3, —4), B(-1, —3) and C(- 6, 2). Then

the area of the parallelogram ABCD is sq. units.
—UnC(— 6, 2)41A(3, —4), B(-1, -3)/ bcj.; L ABCD (parallelogram)&ﬂhuldjl;"..g
UG, S W5

15
2

(e )

3y - (4) Datais insufficient (9.(35/[:915)
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86.

The difference between the areas of a sector of angle 120° and its corresponding
major sector of a circle of radius 21 cm is cm?2.

LE LU SB35 GL 15t sl 120%)}&411;2_1,):_4#/21

SCr Pl
(1) 147z () 294n (3) 462n (4) 44ln

&7.

In the figure, if PQR is the tangent to a circle at Q whose centre is ‘O, AB is a chord
parallel to PR and ZBQR = 70°, ZBOQ = 140° then ZAQB = *

e 3L ABGHPLPR o JULIPQR £ Q B ML o 5101 Fpe0° Ui Fbe
ZAQB= > ZBQR = 70°, ZBOQ = 140°

A ot

0]

|

S
70°

P Q R
1 20° @) 35° GB)  40° 4) 45°

v

&
<

88.

The angle between two radii of a circle is 130°, then the angle between the tangents
at the ends of those radii is

Kuyj,éuvéémid Go1L s Bt T a1 36 130°lndl Us Pidns fee s L]
:r)lj

(1)  40° @) 50° (3) 70° @ 90°

89.

If the roots of (b — ¢) x2 + (¢ — a) x + (a— b) = 0 are equal then
CUIAELL(b-c) 2+ (c—a)x+(a-b) 0 A
(1) 2b=atc (2) at+b=c |

3B) a+bte=0 4) b=ac f

V-Maths 18-E |
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90.

If the sum of the roots of the equation x* —(k+8)x+2(2k—1)=0 is equal to half of
their product then & =

oL L S oL S KL 5~ (k+8)x+2(2k=1)=0 =hil]
k =
e 2) 6 @) 3 (4). =9

91.

If one root of 4x% — 2x + (A — 4) = 0 be the reciprocal of the other then A =
A= n(Reciprocal)APE2 e o2 aliE 42— 2x+ (A -4) =0 =blafi
G S (2) —% B) -8 4 5

92

The middle most term of the A.P. 7, 13, 19, ..., 247 is
oL SI0nK7, 13,19, ..., 247 6LI0L>

v

A a2l Q) a=12PE) ay=127 () .ayeiE

93.

If 2 + 4k + 8, 2k* + 3k + 6 and 3k% + 4k + 4 are the three consecutive terms of an
A.P.then k=

.._J-‘uzg_-)I{Jirﬁ,wl.ﬁdlr’(consecutive)?lf"uf-3k2 + 4k + 4.8 k2 + 4k + 8, 2Kk + 3k + 61
-
a i gy @) - i @ 3

94.

The sum of all the odd integers between 2 and 100 divisible by 3 is
A GBI Tl b Ve 3L SipnL 100 2
(1) 1683 (2) 867 3) 1734 (4) 3366

95;

An observer 1.5 m tall is 28.5 m away from a light pole. The angle of elevation of the
top of the light pole from his eyes is 45°. Then the height of the light pole is
metres.

JULK{LC&JL@KT’JJL‘Q%Zl?c':}'f28.5 g{ég}%}gﬁu%%ﬁ-,‘ﬂw;ﬁ}fl.s
..fﬂ/"-' JAJJL@..;.‘¢45° S
@ 285 Q) 27 {3) 315 @30,

96.

The shadow of a pole standing on a even level ground is found to be 40 m longer,
when Sun’s attitude is 30° than when it was 60°. Then the height of the pole is

metres.
w40 S L 5 E it fost 76 30° N1kt o1 560° jvéajmﬁf..g{u:;ﬂ’

| i Sekduie dn
). 20643 () 3.8 0D 403 (4) 1043
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97.

The angle of elevation of the top of a hill at the foot of a tower is 60° and the angle of
elevation of the top of the tower from the foot of the hill is 30°. If the tower is 50 m
high, the height of the hill is metres.

_4_30";'},.«:';@OULLJV;(J&JL{JIJ:I¢.60° ST AT ALY et L
2 JAJ,V_,C_/SOJAJ,VJ
(1) 100 @) 503 (3) 150 @)  150\3

98.

Two dice are thrown simultaneously. Then the probability of getting the sum of the
two numbers appeared on them is a prime number is

UBKL st Lo el J oL P M W AU,
e

10 12 14 15

6y @ g )i @ =

99.

A bag contains 12 balls, out of them ‘x” are white. If 6 more white balls are added to
the bag, the probability of drawing a white ball will be doubled. Then x =

e Sl vl el 6 it SN el oy 12 u‘JL,J
=x SHathU 6 el
{d): 53 _ ) B 3) .9 @4 4

100.

A number ‘x’ is selected from the number 1, 2, 3 and then a second number °y’ is
randomly selected from the numbers 1, 4, 9. Then the probability, that the product of
the two numbers (x and y) will be less than 9 is

J|ﬁf}JU'h.}'kfgu_-.;;C- 1, 4, 9wty “y’ ;,w_gnl,,f;'lkﬁlfg.rgz‘x’mugc.gﬂ 1,2, 3 slul

== E J.L}'(Ln(r_-%,.«/;’.f‘lag(y»lx)
4 5 ‘3 3
® 3 @ = -2 @ 3

V-Maths ; 20-E




Question Paper E
Booklet Code

101.

PART - III : PHYSICAL SCIENCES

A block of ice at —10°C is heated and converted to steam at 100°C. Which of the
following curve (graph) represents the phenomenon?

Ufe Ut g Fe b L2 () il §T100°C £ S e FE Sty -10°C
e /e ()

t°C

1) :-Tc )
Heat Supplied —» Heat Supplie'd -
=i JSf) AT

@y @ !
Heat Supplied — Heat Supplied —
e g

102.

How much of heat energy will be consumed to convert an ice block of 5 gm at —5°C
into water vapour at 100°C?

1) 6125 cal 2) 36125 cal
3) 61254 cal @) 6215 cal

S0 IFL LSt etz dT100°Cs e Sazvry —5°C

$X 36125 (2 $Ke125 (1)

6215 (@) dX 61254 (3

103.

Which of the following will allow fast evaporation, (Liquid and thermal conditions
are same for all the four)

L = Ul 8;’]»!6 { "AL UJJ_E?)- € 5 Is(Evaporation) /f:fc.. SZ JK T < J, skt

odatie- e (Ut
& e @  EE

€
® o @
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104. ST unit of specific heat is

- 361 (Specific Heat)$A= 7t W SI.
(1) JkgK 2) JkgK 3) kglK 4) K/-kg
105. Statement 1 : Condensation is a cooling process.
Statement 2 : Evaporation is a cooling process.

(1) Statement 1 only true, 2 is false (2) Statement 2 only true, 1 is false
(3) Statements 1, 2 both are true (4)  Statements 1, 2 both are false

_.:'_ﬂf:d_/ MJ (Condensatlon)._.vf 1 Yk
: -LJf K/ Muﬁ(Evaporatlon) A 12 e
oK Phe D2 Phdf () i 2 ke Dilol g (1)
UM 22tk (4) SOy, 2 =tk (3)
106. An electric bulb and a screen are placed on table in a line at a distance of 100 cm.
To get a clear image of bulb where we need to place the convex lens in between
screen and object (Focal length of lens is 16 cm)
(1) 60 cm (or) 40 cm (2) 30cm(or) 70 cm
(3) 80cm(or)20 cm (4) We can’t determine
SV B b L E N5 26100 cm 4(Table) ] Al ket
J:b(f ( Kc_x)c.uj:/’Jéjfr'b»L/abwﬁ E e A (Convex lens) ~#ws/Us" gL

(«16cm
70ecm (L)30ecm  (2) 40cm (L)60cm (1)
é/u“u"’( @) 80 em (20em  (3)
107. [Material Medium A B € D
Refractive Index 1.63 1.33 1.0003 1.5
l:;om the above table in which material medium the light travels faster than the remaining
ree
D 3 B A 13
1S 1.0003 133 4 163 | Uk
..di./?’:-d 2 n)&].;uf.gﬁzuf (Material Mcdium)bbdﬂgj = dugﬂl_,,.yzﬂ
() A (2) B 3 C 4. D
108. Speed of light in vacuum is
(1) 3 x 108 km/hr (2) 3 x 108 m/sec
(3) 3 x10% m/sec (4) 3 x1078 km/hr :
=7 JDJJ ‘ﬁuu’:dﬁ
2512 3x108 . (2) o wml g 3x 08 )
21 2E3x108 (@) IR 3x108] (3)
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109. Which of the following is not an application of Total Internal reflection?
(1) Mirages (2)  Optical fiber
(3) Thermite process (4)  Brilliance of diamond
_.:'..u'“ “J UH((Total Internal Reflection)/ K‘JIL}’I:J( U:‘::_ufJ BRIV
(Optical fiber) .54  (2) (Mirage)—!~ (1)
Llusz @) J¥ Thermite  (3)
110. Snell’s law :
(Snell's law) .§ LK
B T m sini =n,sinr
@ sini sinr ) ! g
B i : <
(3) %, sinr (4)  msinr=n,sini
111. A bird is flying down vertically towards the surface of water in a pond with constant
speed. There is a fish inside the water. If that fish is exactly vertically below the bird,
the bird will appear to the fish
(1)  Farther away than it’s actual distance, lesser than it’s actual speed.
(2)  Nearer than it’s actual distance, lesser than it’s actual speed.
(3)  Farther away than it’s actual distance, greater than it’s actual speed.
(4)  Nearer than it’s actual distance, greater than it’s actual speed.
N P4 3L bultp b (Vertically)$osf 3 2 A dt‘;_,uwu&ww“,,u.(
BT }’L }’ﬂ --u/ic.z.z.c..»//;:"d»fgﬁt u‘juﬁ.c.
e PSSt 2 AE D ()
PSS i s LT @)
wsbic SNl ic &AL (3)
wbic BASS e Ilic L6 AL @)
112. Ifan object is placed at 2F before a convex lens then which of the following is true?

(1) It forms virtual, equal size, erected image
(2) It forms real, enlarged, erected image

(3) It forms real, equal size, inverted image
(4) It forms virtual, enlarged, inverted image

..L._/J:Ufc_.uﬁd' ;;inglau//(lﬂ)}).?l? | #2&(Convex lens)/ﬁuﬁfc.(f;f
eSSl LE G (1)
_s’,«d’wwmw:hxua_a.‘d" )

otz L2 (3)
K S LJotise E5il @)
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113. Statement | : Any ray passing along the principal axis is always deviated.
Statement 2 : Any ray passing through the optic centre is also deviated.
(1) Statements 1, 2 both are true (2)  Statements 1, 2 both are false
(3) Statement 1 is true but 2 is false (4)  Statement 2 is true but 1 is false

..Jﬂdlf}.ﬁ:{f,l:ﬁda{éﬂbLJfL(PdncipaI axis) (}"Uf 11 Yk
_4"_aﬁ.iffolf,bf"up‘,(ji/dbi_Jfa.(Optic Centre))//d}l? 2 Wk
LU, 2 et (2) “UDleUsnl, 2 et | (1)
e g be 2ok @) -eoif2ukbedlolgk  (3)
114. The range of focal length of eye lens of healthy human being is

(1) 227cm-25cm @) 227cm-2.5cm
3) 22.7cm-25cm (4) 25cm-22.7cm
i 0 (Range)=> di d)’(f LK (Eye lens) s AUsgbilires”

‘

K25 25221 @) KT o KEF227 | (1)
HET07 . XEF25 @) KET25. K21 3)
115. Select and match correct combination.

A) Myopia K) Short sightedness, concave lens used for correction

B) Hypermetropia L)  Short sightedness, convex lens used for correction
M) Farsightedness, concave lens used for correction
N) Farsightedness, convex lens used for correction

LSl S E

s PP U5 e 4 5?(3 b~ /":" (K Myopia = (A

s it i )DL éa‘ g_j w2 (L Hypermetropia = (B
/ﬁjbaﬁdb‘:’iiég?db;uu M
,m,,ﬁ;dwzj.éé‘fdb_w (N
(1) AKBM (2 AKBN @3) AMBL (@) AMBK

116. Refractive index of medium A = 1.3, refractive index of medium B = 1.5. If light
travels from A to B which of the following will not change?

(1)  Frequency (2) Wavelength
(3) Speed_ : (4) Both frequency and wavelength
S doc 3 FBa AGUA1S = USUIZL LB btrel 3= USEHD LA bty
: K S e
(Wavelength)J#®  (2) (Frequency) 24 | (1)
UInlrdbniid  (4) (Speed) A (3)

117. At which angle of scattering the intensity of scattered light is maximum
_Jyz(Maximum)u_“ i/él(lntensity of Scattered Light) -"/JPLLL:;’L/;/_._/L{:L:)IJJ{
) o 2) 3P (33 - 9° : 4) 60°
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118 . The colour of the inner most cone of rainbow when it forms cone shape from the tip
at an eye is
(1) Red (2) Violet (3) White (4) Black
e bl fe e L F R B 3018060 AL Rainbow)T A 7
(Black)ol-  (4) (White) 4=  (3) (Violet) & @ ®ed Lo - 4D
119. Find the value of ‘/’ in the circuit given .
(1) 30 amp >
(2) 3 o ' el B T e 30Q
(3) 0.1 amp S8 3
(4) 03amp
300
.50 () w32 (circuit)n G2 L Es
i
K430 (1)
v 30Q 30Q A3 @)
A101  (3)
30Q
44903 (4)
120. Amount of current that passes through a body more than 1 second that may cause
even death is
(1) 0.00001 amp (2) 0.0005 amp
(3). 0.001 amp } 0.07 amp
-g.ﬁcgzu,—rg(death):«:’,;i.: J..amuc_,&l;.() dwo’fmm,&,d/
4% 0.0005 A% 0.00001 (1)
A4 0.07 (4) 440001 (3)
121. Keeping the length constant and cross sectional area of a conducting wire is

doubled then it’s resistance

(1) doubled (2) halved
(3) nochange (4)  become zero
Cross sectional .5 §§s 1/,ul L, g)‘“" Y (Length) J#Z (Conductor) J* d/
.,Jyz (Resistance) =7/ /d/u’ l/c_:/ Lf ;( area
(halved) 5T~ (2) (doubled) 5 (1)
Sebnpe @ Hedd )
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122. The magnetic lines in the figure indicates

(1) If there is no flow of current then only magnetic lines form around the
conducting wire.

(2)  If the current flows vertically upwards (out of page) through a conductor then
magnetic field lines are in clockwise.

(3) If the current flows vertically downwards (into page) through a conductor
then magnetic field lines are in clockwise direction. ‘

(4) If the current flows vertically downwards (into page) through a conductor
then magnetic field lines partially clockwise and anti clockwise also.

&Sty st g

. -.:.'-'L'r'tbﬁu’-:b oS S ik (1)
yungj,ﬁa’-'b - )V )._5)&;,14 WSsfe_ L N AP (2)

; Lu sl
MULE’L:L’U)-I’W;{_C}’(uladu)'id:ﬁ'K)J)’Jé{ﬂbd»féuéwfp(‘a/ﬁ (3)
K fesl

d,zulg},ﬁu’?w?:‘_t;c(q@&,J;:Lﬁbf)._,.;wégjﬁu,fé,fs&d’nf&:ﬂ (4)
Entesbadlatoery

123. Let ‘0’ be the angle between direction of current and magnetic field and it is 90°
then force acting on the current carrying wire is given by

“ped_ts J._.:u'lc{Jt' d/.o.:}‘_c‘.. 90° sl 3l Ku.l./wé ul,g-fu/-:b L salsy J/. ‘0’ ,f;/ J’ /
- =blo K s
(1) I=FLB (2) Zero @) F=HB' 4  B=IFL
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124. “The induced current set up in the coil is in such a direction that it oppose the
changes in the flux” is stated by
(1) Farada (2) Lenz _ (3) Oersted #). Obhma
S o"{ b coil e e b er AU (induced current) 2 G2 du”
_‘Lgu_(.;i, !(u;G.J[‘L‘Ld/'/&:’f
o @ B Q) 2o Ly o
125. Which of the following statement is correct
(1) Slip rings are used in AC generator to convert electrical energy into
mechanical energy.
(2) Commutators are used in AC generator to convert electrical energy into
mechanical energy.
(3) Slip rings are used in DC generator to convert mechanical energy into
electrical energy.
(4) Commutators are used in DC generator to convert mechanical energy into
electrical energy.
-< WJJUQL«;:Q_.Uf JJ: BE
_ﬁ;bxufﬁ.ﬂA.C.Jb;‘lKSlip rings gi./rdﬂju:dtl?&@fdt!?d/. (1)
—e by ZA.C.JE1E commutat-t)rs.’f#r ¢../U: )ﬁ_)ﬁdt'?&- 6_-)/ St Q)
-é.tﬁu:fi.ﬂD.C.dWlKSlip ringsgi_/dj,ﬁjfdtlﬁ d,c:(dl:l?(ﬁ@ (3)
-.f__tﬂu.ff*..ﬂD.C.dL-z‘lb’commutatorsgi_fdjﬁjdL‘I?dz::(dl:!?ueé; )
126. Which of the following gases dissolve in water make the solution acidic.
LG S QA e S s
A) CO, B) CaO C) SO, D) Na,O
1) A&@B) (@) @AW&EC) @) B&C @ ©&D)
127. Reaction between Zinc metal and Conc. Sodium hydroxide produces a gas. Which

of the following property shown by the produced gas
(1)  Rotten egg smell (2)  Turns lime water milky
(3)  Supports combustion (4) Burns with POP sound

/;U;:(M."GJ:(LJXJL?JF_WU’J sl J@ug;:&gbfl’ujﬂﬂ-‘ffié/ﬂlolﬂ):ﬁ?
Py

e/ Ly ) Wediene e (1)
fa;jvéﬂ,w’ POP  (4) cGnatite  (3)

128. Nature of Antacid tablet is

(1) Neutral (2) Mild acidic (3) Strong acidic(4) Mild basic

- .:,;"id/ df Antacid
Sl @ e By e JI Q)
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129. Ca(OH), + CO, — CaCO; + H,0.
Which of the following statements are true for the above reaction.
A) A metallic oxide reacts with a non-metallic oxide to produce salt and water.
B) It is a neutralization reaction.
C)  Ametallic hydroxide reacts with a non-metallic oxide to produce salt and water.
D) . Anon-metallic hydroxide reacts with a metallic oxide to produce salt and water.
(1) @Aonly (2) @B&C) @) A)MB&DE@ (€ &D)
Ca(OH)2 o COz - CaCO3 o Hzo
—U’JJ)HH/&[LJJJCJ}ALJfJUL,-‘?JM
_¢L—uduuf£/{} T L Tl i (A
< J b-U' »’J (B
e bl LL S SGA L ST Yl f:,vl/( LAl di  (C
-a.t‘ladl.uf._ﬁ’d:/o'b’:_ﬁlr(l dbur T dles (SO
D)s(C) (4) D)s(A),(B) () (©B) ) A~ (1)
130. Find the wavelength of a photon in centimeter whose energy is 3 x 1018 erg.
(h=6.626 x 10-27 erg. sec, C =3 x 10'% cm/sec.). ;
_Jﬂy’u’.f}-f s (wavclcngth)@fd)’d/ (photon)ulf:’i_l:ézdti? 3 x 10718 erg.
(h=6.626 x 10-27 erg. sec, C = 3 x 1019 cm/sec.).
(1) 0.6626 (2) 6.626 (3) 66.26 (4) 662.6
131. Which of the following diagram violates both Pauli’s exclusion principle and
Hund’s rule? 2 :
_‘Ldxd!w..}ﬁ(,(ujudf"léikjsldy‘ldlf;lldgL}ff Gu’( c..ufJ__' 3o
O It @ It (Tt
3 [ [WrTr @ [y |1t
132.  Which of the following four quantum numbers represents differentiating electron of

sodium atom?

a3 Usslo 2 L (differentiating electron)! /'ffz'_ i SIPL LR Srud Sits

gl s
: ,
(1) n=31=0m= =0m, =+ @ n=3i=2m=+lm =
1
(3) n= 2,1= lsm[ =0,ms =+5 (4) n=3,1= ],’"’ =+1,ms =+'i‘
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133.  Which of the following statement is not true?
(1) Light is an electromagnetic wave.
(2)  Electromagnetic wave is a mechanical wave.
(3)  Electromagnetic waves are transverse in nature.
(4)  The speed of electromagnetic wave is 3 x 10'° cm/sec.
- u.‘.fivuugu;(c, u’i ‘-Z By
-0 ru’-'bb&d/:uﬁ&‘u (D
-l -lé«-.?b:’o’:'b t=ds ()
-<Transverse c::’:;d, (yr‘u"-b l’ﬁ‘(.}./. (3)
-<-30x10" em/s TS c-,,wufb ds @)
134. ‘n’ and ‘I’ values of four electrons given below.
Identify the correct arrangement of increasing order of their energy levels according
to Aufbau principle. g o
&/JJC_BLJL%:}(}KG”‘/.é:i’d/dtf?u:ul-q_féé_;u:JEQJjJ‘l’in‘n’ JQJI}UIU_.(?
~JSBL 6 (Aufbau)bT SsBlss
& m=d =1 B) . -a=3il=d C)  n=4l=0 Tsea=51=0
(1) BEC<A<D (2) C<B<A<D
(3) D<C<A<B 4) A<B<C<D
135. Regarding modern periodic table which of the following statements are incorrect.
A)  The valency of 18t group elements is ‘0’.
B)  Elements in same period having same number of valence electrons.
C)  Except hydrogen all the S-block elements are metals.
D) Asgodownin a group the metallic nature of elements decreases.
~Jikbe bl I S J’n 5(yJJuﬁ¢.Jl,£(Modem Periodic Table)Jsw ($s9:4 4
e (ol s @A
S Lz NG SP S LI S AL P sl (B
e ~ R oSS Ul P2y (C
e Gl Jod Pt L e s it O
1) ©&D 2 @B&C) @) @B&D @ @B)C)&(D)
136.  Which of the following pair of Tons have different number of electrons.
-‘:;.J%'M"Jgﬂ}ﬂﬂé_}ﬁdfug/(auﬁdjbﬂ
(1) Nat Mg™ (2)  Ch,Ga  (3)  F .Na* 4). HL L
'137.  Which of the folloWing chalcogen family element belongs to 4™ period.

(1) Tellurium (2) Selenium (3)  Sulphur (4) Oxygen
B8 > LY Yt D" (chalcogen) u’;_ﬁ kb Ue 2 ke
FT @ Boey o gk @ Z 0]
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138.  Predict the atomic number of the element belongs to 3™ period and 14t group.

i x (predict)(j:f u“".?d/ (atomic number)s4( ;2 2..5( /’2_ f:é)g}bj o ...:A/u: s14.ush8se_ /...

)= 8 (2) : 16 3) 14 (4) 43

139. Which of the following molecules do not contain a triple bond.

s Sy (Triple bond).4:! 77Ut = U l/d( Ui ide

Ay SO B) NH, - N, D) HCl

1) B&M @ @BO&D)B) A&D @) (A).(B)&(D)

140. Molecular formula of a metallic carbonate is X,(CO;);. Then the molecular formula

of its phosphate will be

& LGRS (g T Xo(CO5)s s LKt Blos

(1)  X5P0, 2) X(POy, (3) XPO, 4)  XPO,

141. In which of the following central atom does not follow the octet rule.

_J‘Lt'fu.?;d:f.- (Octet rule)J+*I€=2: (central atom) 72§ )}Ufc_u‘fJ_ Sop

(1) 2Bl 2 GH (3) GHy (5 - N,
142. Number of Lone pairs, bond pairs present in ammonia molecule
“& A (bond pairs)Js /2L i:«(lone pair) /22 (2 4 L
£3)  ada () -1:3 &y - 2.2 4) 12

143.  Arrange the following metals in the increasing order of their reactivity.
Calcium, Zine, Mercury, Copper, Sodium
(1)  Mercury < Copper < Zinc < Calcium < Sodium
(2)  Sodium < Zinc < Calcium < Copper < Mercury
(3)  Copper < Zinc < Calcium < Mercury < Sodium
(4)  Sodium < Calcium < Zinc < Copper < Mercury

UL A e n 22 s o\ g (reactivity) =l d/ Uy Les )} 3G
F: 53’:{ K’dx):.(/«u(.}:(:g

@;y>ﬁ?>$>4g>d,§
d»&>{(>ﬁg>~€)>f»’5r
7% >d;r,.(/>(..)-f(>._ﬂ > /K
d;[/>{l(>..fj>ﬁ"9’>é$r

(1)
()
3)
(4)

144.  Which of the following method is not used for purification of crude metal.
(1) Poling (2)  Froth floatation
(3) Liquation (4)  Electrolytic refining

_gbby/g{.‘.(dﬁ”liii_/_} L-afa@(l&.@)’l)fc_ufij.yﬂ

LA by
L @) — O

(1)
®)
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145. Which of the following is a carbonate ore
(1) Pyrolusite (2) Magnetite (3) Limestone (4) Rock salt
-<(carbonate ore)= e &y K{Jfa.u:‘f_ Sk
S @ wHA 3 ek @ s
146. The reducing agent in thermite process is
(1) Carbon (2 Aluminium
(3) Carbon monoxide (4) Magnesium 3
&, - (Reducing agent) N /2 SZ (Thermite)2#L 7
&= @DV Tirgk  (3) A @ gK (1)
147. 'Which among the following is/are unsaturated hydrocarbons. :
- (Unsaturated Hydrocarbon)//6s,42es” b e ¥ Jn' Ry
a) C;H, b) C,H, c) CH,, d) CgH,, ¢ CH,
1D G&DE) @&bB) @) OM&E@ @ @&
148. The formula of methanoic acid is
S Lo 7 (Methanoic) ¥ 72
(1) HCOOH (2) CH;COOH
(3) CH3;CH,COOH (4) C,HsOH
149. Which one of the following can show isomerism? :
o C’:/‘;: U::(Isornerism)gf@(’z L-)fc.. S i
(1) HO (2) BeCh (3) NHj (4) C4Hyo
150. Choose the correct matching.
Chemical reaction Name
a)  CH,COOH+NaOH——CH,COONa+H,0 1)  Esterification
b) CH, =CH, +H,0 %CH:;CHZOH ll) Addition reaction
) O, N e O Y iii)  Neutralization reaction
d) CH,COOH + CH,CH,OH __concHpS04 o iv) Substitution feaction
CH,COOCH,CH; + H,0 J IR sy
rt 2 Sl
cf-'-(uf = @ CH,COOH + NaOH — CH,COONa + H,0 (a
g G CH, = CH, + H,0—5522—CH,CH,0H (®
Pk s i CH, +Cl, —S=i€" _, CH Cl+ HCI c
St Gv CH,COOH + CH;CH,OH —Hz50s d
CH;COOCH,CH; + H,0
(1) a-iii, b-ii, c-i, d-iv (2)  a-iii, b-i, c-ii, d-iv
(3) a-iii, b-ii, c-iv, d-i (4) a-i, b-ii, c-iv, d-iii
WWW
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